
BL 1370 INDY ROADSTER 
REPLACEMENT PARTS 

BL 2216 INDY ROADSTER BODY 
BL 3053-F FRONT TIRES 
BL 3352-F REAR TIRES 
BL 5049 CHASSIS PLATES 
BL 5188 AXLE HEIGHT ADAPTORS 
BL5242 BATTERYTRAY 
BL 5244 FRONT AXLE PLATE 
BL 5245-B CHASSIS SPACERS 
BL 5245-C 1/2" AXLE SPACER 
BL 5249-S SERVO PLATE 
BL 5221 E-CLIPS 
BL 5228 FRONT SPRINGS 
BL 5308 STEERING LINKAGE 
BL 5351 STEERING BLOCKS 
BL 5364 STUB AXLES 
BL 5377 KINGPINS 
BL 5452 REAR AXLE BUSHINGS 
BL 5457 FRONT WHEEL BUSHINGS 

5351 -

7030-B 

] 

2438 

l 

HARDWARE 

BL 2400 BODY CLIPS 
BL 2438 BODY MOUNTS W/CLIPS 
BL 7030-B 3/8" SOCKET CAP SCREWS 
BL 7044 3/8" BUTTON HEAD SCREWS 
BL 7150 4-40 SET SCREWS 
BL 7160 REAR HUB SET SCREWS 
BL 7206 5-40 JAM NUTS 
BL 7207 5-40 LOCK NUTS 
BL 7218 RED DIFF NUTS 
BL 7404 1/8 STEEL WASHERS 
BL 7416 NYLON AXLE WASHERS 

DIFF PARTS 
BL 3511-T DIFF HUB 
BL 3513 SET SCREW HUB 
BL 5611 81 TOOTH GEAR 
BL 5735 THRUST BEARING KIT 
BL 5737 CONE WASHER 
BL 5740-A DIFF ADAPTOR 
BL 5744 SHORT DIFF AXLE 
BL 5751 DIFF BALLS 
BL 5752 DRIVE RINGS 

5735 7218 
0 A I 

@f@@@ 
I 

5737 


